Answers

1) (1836 X 54%72% 90 a 2592 + 48 = 54
RERINR )

1044 + 18 = 58 54 trays are needed.
IR /’\ b) 331S+3s=39

32=>64=>46=>128 Q

393?._/3\/&/ 39 glasses can be filled.

(28X seXz4Xn2X100) <) 4400+ 55 =80

\_/\/\/ 80 pieces of ribbon

8372 + 28 = 299

1) Accept any explanation that shows that Ruben has incorrectly divided 1480 by 19. He has only gone up to the
fifth multiple of 19, as shown by the table, but he could actually fit seventy lots of 19 into 1430.

The correct answer is 738.

2) 1120 +35= 32

Accept an answer that shows that Selma is correct. Because the dividend in the second calculation is
exactly 3S greater than the dividend in the first calculation, she knows the quotient will be exactly | more group of 35
greater, giving the answer of 32,
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